No:25 (2+1)
Net: 94 m? + 15 m?
Brit: 134 m?
345.000 €
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No:17 (2+1) I No:18 (2+1)

Net:70 m? + 8 m? 70m?+24m?
Briit : 103 m? Brit: 119 m?

265.000 € 275.000 €
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No:8 (2+1) No: 9% (2+1)

Net : 70 m? + 8 m? \ Net: 70 m? + 8 m?
Briit: 103 m?
255.000 €
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No:25 (2+1)
Net: 4 m?+ 15 m?

Brit : 134 m? ‘
345.000 € ‘
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No:22 (2+1)
Net:70 m* + 8 m?

Briit: 103 m?*
270.000 € ! - - 2
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Brit ; 104 m? /
275.000 €

i

Y\
\
:\§§
A\

14 No:15 (2+1)
::I :1?0{:1: 1 ]Bm’ Net:?OnF-i-?r'fpﬁ‘ [
Brijt : 103 m? Brijt : 104 m?
260.000 € 270.000 €

No:9 (2+1)
Net: 70 m? + 8 m?
Briit : 103 m?
255.000 €

No:3 (241) b i (2+1)
Net : 70 m?* # 28 m* + 28 m* Lo Net:70 e 28 m? + 28 m?
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Brit: 15T m*




